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25 230z
HzM: S sIE
e S3d=8EAI X (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
E3t0 = 22,425,653 23,481,790 N 1,056,137
= 3,738,638
Xl 300,000
Jl 1,168,900
= 2,907,039
Al 14,311,076
Sst=&E 7,054,240 5,519,903 1,534,337
Xl 300,000
Dl 768,900
= 1,107,400
Al 4,877,940
Ssld=8A X 5,463,110 4,059,210 1,403,900
Xl 300,000
J| 5,000
o 1,045,600
Al 4,112,510
HE25E S3d=8EAI X& 71,000 71,000 0
307 QI2t0| ™ 71,000 71,000 0
02 QI2tAMAIE E X 71,000 71,000 0
OFF232 SSIHESH A SSH|
71,000,000& * 100 71,000
N2 =X 176,810 196,910 A 20,100
201 et 4,230 4,810 A 580
01 AP 2t 2] H| 4,230 4,810 A 580
O=230lz=ad M 10,000€ = 2000H 2,000
o8 £+=9 H= 70,000& = 200 = 53] 700
ONEH BAZX PS
20,000 * 2= = 12&€ 480
OUE ZSHAIFE Z &I
7,0008 * 5H x 32 * 103 1,050
202 o4 | 2,880 2,400 480
01 2Ll 2,880 2,400 480
o2 Sslt=8 Al =X |
20,000& * 4% * 32 x 128 2,880
203 € R F&d| 2,000 2,000 0
03 AIZH =X 2 F X H| 2,000 2,000 0
O2F0=HA =& 2,000,000& 2,000
306 =32 167,700 167,700 0
o1 &3 167,700 167,700 0
O=E=E2MEHI 2 167,700,000 167,700
X2 HA S 50,000 50,000 0
= 25,000
Al 25,000
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
307 glz2tol & 50,000 50,000 0
< 25,000
Al 25,000
04 DI2HHALALSE E X 50,000 50,000 0
OFFHXMASXAMUCHE 50,000,000& 50,000
< 25,000
Al 25,000
AL EZ3sHo =& A 31,600 23,200 8,400
< 31,600
307 21201 A 31,600 23,200 8,400
< 31,600
04 QIZFHALAIH E = 31,600 23,200 8,400
OXZ=s=8AMN N (ES2AMHIIS)
1,600,000 = 13l 31,600
< 31,600
SE dIsd FAUMA 40,000 40,000 0
< 18,000
Al 22,000
307 glz2+ol & 40,000 40,000 0
< 18,000
Al 22,000
04 QIZFHALAIH E = 40,000 40,000 0
OWEY MM HRH
40,000,000& = 13l 40,000
< 18,000
Al 22,000
E3t st EESHALS 13,500 13,500 0
307 glz2tol & 13,500 13,500 0
02 It HAHEE 13,500 13,500 0
OdESsHE 13,500,000& * 13 13,500
SHE HZ I 40,000 40,000 0
< 20,000
Al 20,000
307 21201 A 40,000 40,000 0
< 20,000
Al 20,000
04 QIZFHALAIH B = 40,000 40,000 0
ORaA HZEIMNRRAM X 40,000,000& * 13 40,000
< 20,000
Al 20,000
F=0=H 150,000 150,000 0
307 21201 A 150,000 150,000 0
04 DIZHHALALSE E X 150,000 150,000 0
OM133 HF0W=H 150,000,000& * 13l 150,000




2N 230z
A BU=TE
& S3o=AM X (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
8t E2oUlznRAIS 10,000 10,000 0
307 gl2tol & 10,000 10,000 0
04 DI2ZHHALALSE E X 10,000 10,000 0
OHM153 SESE2stM=ns:
10,000,000& * 13l 10,000
SSEUSN==H E=A 0L 4,000 4,000 0
307 21201 A 4,000 4,000 0
04 DIZHHALALSE E X 4,000 4,000 0
OF=USHM==H EFA0LU=
4,000,000& = 13l 4,000
FF0lz=2y & o= & 6,000 6,000 0
307 21201 A 6,000 6,000 0
04 QIZFHALAIH B = 6,000 6,000 0
OHFHEEY 2 (209 g
6,000,000& = 13l 6,000
A=A AlatAl 4,000 4,000 0
307 glz2+ol & 4,000 4,000 0
04 QIZFHALAIH E = 4,000 4,000 0
OFFAQU=& Al&tA 4,000,000& = 13l 4,000
=3¢ 25,500 30,000 A 4,500
307 21201 A 25,500 30,000 A 4,500
04 QIZFHALAIR 2 = 25,500 30,000 A 4,500
Ofx==3¢ 25,500,000& = 13l 25,500
HFAE O 8,500 10,000 A 1,500
307 21201 A 8,500 10,000 A 1,500
04 DIZHHALALSE E X 8,500 10,000 A 1,500
OF=AC JIH 8,500,000& * 13l 8,500
St g F AU S 3,500 3,500 0
307 glz2+ol & 3,500 3,500 0
04 QIZFHALAIH E = 3,500 3,500 0
OstdsAFAUS 3,500,000& = 13l 3,500
AZOl 2= JIES23 3,500 3,500 0
307 glz2+ol & 3,500 3,500 0
04 QIZFHALAIH E = 3,500 3,500 0
OP EE= S ] 3,500,000& = 13l 3,500
FFANCRNEHEHISH 2 H=UCCHH S 7,000 8,000 A 1,000
307 21201 A 7,000 8,000 A 1,000
04 QIZFHALAIH B & 7,000 8,000 A 1,000




2N 230z
A BU=TE
el ZStoll=HAL X (cho &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OFFACXNEHEHESM 2 FFUCCH 2
7,000,000& = 13l 7,000
22 Xl 2,000 2,000 0
307 gl2tol & 2,000 2,000 0
04 DIZHHALALSE E X 2,000 2,000 0
oOLEMN 2,000,000& = 13l 2,000
EFANASZAAMNEIZBEHA 4,000 4,000 0
307 glz2tol & 4,000 4,000 0
04 QIZFHALAIH E = 4,000 4,000 0
OFFANAZTZANAXNS2H
4,000,000& = 13l 4,000
2 2,500 2,500 0
307 gl2tol & 2,500 2,500 0
04 DIZHHALALSE E X 2,500 2,500 0
OH2H 2,500,000& = 13l 2,500
=g ANZHE Y LM 2,400 2,400 0
307 glz2+ol & 2,400 2,400 0
04 QIZFHALAIH 2 = 2,400 2,400 0
02083 HVNEH U AN
2,400,000& = 13l 2,400
=edd 2 EE3 4,000 4,000 0
307 gl2tol & 4,000 4,000 0
04 DIZHHALAISE E X 4,000 4,000 0
oOzstdd & EEI 4,000,000& = 13l 4,000
A2 EHots 282 g 8,500 10,000 A 1,500
307 glz2+ol & 8,500 10,000 A 1,500
04 QIZFHALAIH B = 8,500 10,000 A 1,500
OAI2IL S Hote 22 &
8,500,000& = 13l 8,500
HF=0=83 A 8,500 10,000 A 1,500
307 glz2tol & 8,500 10,000 A 1,500
04 DI2HHALALSE E X 8,500 10,000 A 1,500
OF=0l=8gs saA 8,500,000& = 13l 8,500
S22 M ot= =AM 8,500 10,000 A 1,500
307 glz2+ol & 8,500 10,000 A 1,500
04 QIZFHALAIH B = 8,500 10,000 A 1,500
OfEW Mot =AM 8,500,000& = 13l 8,500
RS2 AU 17,000 20,000 A 3,000
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SN SAGEA) - MRALY - BES 0l &k o4 il Hl D&
307 glz2tol & 17,000 20,000 A 3,000
04 DI2HHALALSE E X 17,000 20,000 A 3,000
OFFTIRESZAHUI 17,000,000& * 13/ 17,000
LA IAHUS20HA 8,000 8,000 0
307 eIzl & 8,000 8,000 0
04 QIZFHALAIH E = 8,000 8,000 0
OYLHBHINUZSIZHE  8,000,000& » 13 8,000
LR S 2OA 20,000 20,000 0
307 glztol & 20,000 20,000 0
04 QIZFHALAIH B = 20,000 20,000 0
OLHLZZ 0 &H A 20,000,000& = 13l 20,000
OtE &= 2016 13,000 15,000 A 2,000
307 21201 A 13,000 15,000 A 2,000
04 DIZHHALALSE E X 13,000 15,000 A 2,000
OO0EHE= 2016 13,000,000& * 13l 13,000
MU= I AN (A=) 5,500 6,000 A 500
307 glz2tol & 5,500 6,000 A 500
04 DI2HHALALSE E X 5,500 6,000 A 500
O=HMESMN=WIAE (A=H)
5,500,000& = 13l 5,500
FFAXN I IFAUMA 8,500 10,000 A 1,500
307 21201 A 8,500 10,000 A 1,500
04 DIZHHALALSE E X 8,500 10,000 A 1,500
OF=HRX MIZAMUMA 8,500,000& = 13 8,500
St-0tAIOF 2t E23tllles 2 M LF 10,000 10,000 0
307 glz2tol & 10,000 10,000 0
04 QIZFHALAIH E = 10,000 10,000 0
OBH-0tAIOL2t 23tz 2 MLE
10,000,000& * 13l 10,000
F=OE0=H 48,000 48,000 0
307 gl2+tol & 48,000 48,000 0
04 DI2HHALALSE E X 48,000 48,000 0
OFFUFM=M 48,000,000 = 13l 48,000
Ol=%3 J18d 3,600 3,600 0
307 gl & 3,600 3,600 0
04 QIZFHALAIH 2 = 3,600 3,600 0
onlsxs J1=8d 3,600,000 = 13l 3,600
2 AclSE 4,000 4,000 0
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
307 glz2tol & 4,000 4,000 0
04 DI2HHALALSE E X 4,000 4,000 0
OE Acl2¥ 4,000,000& = 13l 4,000
AMEZZHAZ 4,000 4,000 0
307 eIzl & 4,000 4,000 0
04 QIZFHALAIH E = 4,000 4,000 0
OMEZZH Al E 4,000,000& = 13l 4,000
BIEgotmNE 4,000 4,000 0
307 21201 A 4,000 4,000 0
04 QIZFHALAIH B = 4,000 4,000 0
ORESAZAHE 4,000,000& = 13l 4,000
S=Hd 4,000 4,000 0
307 21201 A 4,000 4,000 0
04 DIZHHALALSE E X 4,000 4,000 0
OF 3= 4,000,000& = 13l 4,000
S 3tokatdl 0l 5,000 5,000 0
307 glz2tol & 5,000 5,000 0
04 DI2HHALALSE E X 5,000 5,000 0
©g3stotatd 0l 5,000,000& = 13l 5,000
FF=UEIE0LE 4,000 4,000 0
307 glz2tol & 4,000 4,000 0
04 QIZFHALAIH B = 4,000 4,000 0
Od=0=E=80gEd 4,000,000& = 13l 4,000
A S HHA 4,000 4,000 0
307 21201 A 4,000 4,000 0
04 QIZFHALAIH B = 4,000 4,000 0
OFZAZHA: A 4,000,000& = 13l 4,000
FFOUE0=2 U3 3,000 3,000 0
307 gl2tol & 3,000 3,000 0
04 DIZHHALALSE E X 3,000 3,000 0
OFFQUEM=2HE 3,000,000& = 13l 3,000
365 HMABAHO EXl= 2 AMEH 39,000 45,000 A 6,000
307 glz2tol & 39,000 45,000 A 6,000
04 QIZFHALAIH E = 39,000 45,000 26,000
03652 HAIZBHO0 SX=s BEAXH
39,000,000& 39,000
HFABSAE 30,000 30,000 0
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M o= s
ool 2= A X3
S BB (BA) - MRAY - BYS il
307 21201 & 30,000 30,000
04 QIZHHALAIH 2 = 30,000 30,000
OFFALSAZ 30,000,000& * 13l 30,000
S=EFAY US0=H ot 6,000 7,000
307 21201 & 6,000 7,000
04 QIZHHALALH B £ 6,000 7,000
OsSFEa2EUXM=M Ot
6,000,000& = 12 6,000
S0 ==d ot 6,000 7,000
307 21201 & 6,000 7,000
04 DIZFHALALH 2 = 6,000 7,000
ossesMd==d FOt 6,000,000& = 13l 6,000
SEA=H ot 4,000 4,000
307 glztol & 4,000 4,000
04 DIZFBHALAFRI 2 = 4,000 4,000
OF=¢=H &It 4,000,000& =+ 13 4,000
d==H &t 3,000 ,000
307 glztol & 3,000 ,000
04 DIZFBHAL AL 2 3,000 ,000
Od=H=H &It 3,000,000& =+ 13l 3,000
d=2EHMH Ot 3,000 ,000
307 glz2tol & 3,000 ,000
04 QIFBHAL AN 2 3,000 ,000
OX=REM EIt 3,000,000& = 12 3,000
Faguweett J|HF3) 3,000 ,000
307 21201 & 3,000 ,000
04 QIZHHALALH B = 3,000 ,000
OFAEDE AL HI|F
3,000,000& =+ 13l 3,000
Jt=1+ otelotel & 3,000 ,000
307 21201 & 3,000 ,000
04 QIZHHALAIH 2 = 3,000 ,000
©Jt=1t otelotel & 3,000,000& = 12 3,000
Abei 3| & 3,000 ,000
307 21201 & 3,000 ,000
04 QIZHSHALALE B £ 3,000 ,000
OAMMEH 3,000,000& = 12 3,000
4 MES 3,000 ,000
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307 glz2tol & 3,000 3,000 0
04 DI2HHALALSE E X 3,000 3,000 0
OR& Atz 3,000,000& = 13l 3,000
H= A EUSE 9,000 9,000 0
307 eIzl & 9,000 9,000 0
04 QIZFHALAIH E = 9,000 9,000 0
ONIA=ZEHUS 9,000,000& = 13l 9,000
MO =S EAlE 3,000 3,000 0
307 21201 A 3,000 3,000 0
04 QIZFHALAIH B = 3,000 3,000 0
OKNUZSHAlZ 3,000,000& = 13l 3,000
2016 Jt=S %3l 32,000 32,000 0
307 21201 A 32,000 32,000 0
04 DIZHHALALSE E X 32,000 32,000 0
©2016 Jt=3 3l 32,000,000& = 13/ 32,000
d=2 H4A4E SAZ22 54,000 54,000 0
= 10,000
Al 44,000
307 glz2tol & 54,000 54,000 0
< 10,000
Al 44,000
04 QIZFHALAIH E = 54,000 54,000 0
OMIHFLHSAZSE 54,000,000& = 13l 54,000
< 10,000
Al 44,000
CHHEsttl=HMA 22,500 26,000 A 3,500
307 21201 A 22,500 26,000 A 3,500
04 QIZFHALAIH B = 22,500 26,000 A 3,500
OHMEZsol=H & 22,500,000& = 13l 22,500
£ =208 23 2 HAF 13,000 15,000 22,000
307 21201 A 13,000 15,000 A 2,000
04 DIZFHALALSE E X 13,000 15,000 A 2,000
058 27|38 243 & HAIF
13,000,000& * 12l 13,000
AR EotE JtES2¢3l 31,000 31,000 0
307 21201 A 31,000 31,000 0
04 QIZFHALAIH B = 31,000 31,000 0
OAIRI & Mdte JIE2323l
31,000,000& = 13l 31,000
24E 2U=A 164,200 150,000 14,200
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e S3d=8EAI X (2 &HH)
- _ _ RE]
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201 Bt 7,200 0 7,200
01 AP 22| H| 7,200 0 7,200
0= 9428 £sAY| 7,200
OFQLYRAE BN M
10,000€ * 808 800
OANXEAE BN HZ 15,0008 » 608 900
OHBAIRSZAI BN HE
15,0008 » 808 1,200
OANEUst BN H& 15,000& * 605 900
OBLAISEANBIIAJAS EDM M
15,000& = 808 = 23| 2,400
O=2He(2eHs2E2) 50,000 » 208 1,000
203 ¥ 2 = &4 7,000 0 7,000
03 Al 2 =& 2 = X H| 7,000 0 7,000
O=SH=22=2 2IUH=HAI =&
7,000,000 7,000
307 QI2t0| & 150,000 150,000 0
04 CIZ2tSHALALS B X 150,000 150,000 0
OUZ 230 =3 A} 150,000,000 150,000
SEHAEY 40,500 40,500 0
307 2Iz2t0| & 40,500 40,500 0
04 SIZ2HSHAAISH E & 40,500 40,500 0
OFEMHAEY 40,500,000& * 13l 40,500
HFAL A2SAZ22 35,100 35,100 0
307 2iz2to| A 35,100 35,100 0
04 OIZ2tSHALALS B X 35,100 35,100 0]
OFFZX M=2sSUZ22 35,100,000 * 13| 35,100
HAFTSH2EXINE XS 80,000 80,000 0
307 QI2t0| ™ 80,000 80,000 0
04 CIZ2tSHALALS B = 80,000 80,000 0
OFFSHE2XXINE XS
80,000,000& * 13l 80,000
AcllUs BN 2AME 10,000 10,000 0
307 giztol A 10,000 10,000 0
04 QIZ2tSHALALS B X 10,000 10,000 0
oacdls E&8 Z2AME 10,000,000& = 13 10,000
HFEOI2 S 224HFAU S 8,500 10,000 A 1,500
307 QI2t0| ™ 8,500 10,000 A 1,500
04 CIZ2tSHAPALS B X 8,500 10,000 A 1,500
OFF0t2lY =224HAMWUSE 8,500,000& = 13 8,500
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=828 280,000 280,000 0
307 QI2+0| A 280,000 280,000 0
04 DIZFSHAIAIRI 2 = 280,000 280,000 0
OF=54Z&X 280,000,000& * 13| 280,000
HOtol= 2stlll=3¢ 50,000 50,000 0
307 glz2tol & 50,000 50,000 0
04 QIZFHALALH 2 = 50,000 50,000 0
OO0l 2su=29 50,000, 000& 50,000
d=sE A 13,000 15,400 A 2,400
307 21201 A 13,000 15,400 A 2,400
04 QI2bSHAIAIRI 2 = 13,000 15,400 2,400
OtsE 2sHHl 13,000,000& * 13l 13,000
ool = 35,100 35,100 0
307 21201 A 35,100 35,100 0
04 DIZHBHAFA I 2 X 35,100 35,100 0
oo0HEZA 35,100,000& * 13l 35,100
HYAA ECISA 20,000 20,000 0
307 gl2tol & 20,000 20,000 0
04 DIZHHALALSE E X 20,000 20,000 0
QAL AA EcIHA 20,000,000& = 13l 20,000
HF 8300 g2IHUS 30,000 30,000 0
307 glz2tol & 30,000 30,000 0
04 QIZFHALAIH E = 30,000 30,000 0
OXH=0E0 HEHAAUS
30,000,000& * 13l 30,000
FEFFINAMU =UEILHA 5,000 5,000 0
307 glz2tol & 5,000 5,000 0
04 DI2ZHHALALSE E X 5,000 5,000 0
OF=MNOIIHE S =CHA 5,000,000& * 13 5,000
=30 =H 6,000 7,000 A 1,000
307 glz2+ol & 6,000 7,000 A1,000
04 QIZFHALAIH E = 6,000 7,000 A 1,000
OFFZAHM=A 6,000,000& = 13l 6,000
EESCEESPIE-TES] 3,000 3,000 0
307 21201 A 3,000 3,000 0
04 QIZFHALAIH B = 3,000 3,000 0
OFFOHF &g ™ 3,000,000& = 13l 3,000
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& S3o=AM X (cho &)
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
Zuste FASAA 60,000 60,000 0
< 30,000
Al 30,000
307 212t01 & 60,000 60,000 0
< 30,000
Al 30,000
04 DIZHSHAFAIRHE 2 X 60,000 60,000 0
OZNSE FASAAH 60,000,000& * 13 60,000
& 30,000
Al 30,000
8= =0| 40,000 40,000 0
307 212t01 & 40,000 40,000 0
04 QIZHSHALAIE 2 X 40,000 40,000 0
Oz =0| 40,000,000& = 13] 40,000
Had st 22 30,000 30,000 0
307 QI2t0| ™ 30,000 30,000 0
04 QI2tSHALAIE E &= 30,000 30,000 0
OFAHE AES3S B2 30,000,000& * 13 30,000
S MM nsd 9,000 9,000 0
307 QI2t0| M 9,000 9,000 0
02 DIZtBAAMEE X 9,000 9,000 0
OstsNMuLEHN 9,000,000& * 13 9,000
NS ES MEOE 4,500 4,500 0
307 212t01 & 4,500 4,500 0
02 DIZtZAAMEE X 4,500 4,500 0
ONSE23 MEOE 4,500,000& * 13 4,500
ZTEEHF EEZEIIRI 24,000 24,000 0
307 QI2t0| & 24,000 24,000 0
02 DI2tF AAEE X 24,000 24,000 0
OFEZEI =D 24,000,000& * 13] 24,000
MNZ e & 4,500 4,500 0
307 QI2t0| ™ 4,500 4,500 0
02 DI2HE MAIEE X 4,500 4,500 0
ONSBSHAEUZ HAl 4,500,000& * 13 4,500
NS AL S 4,500 4,500 0
307 212t01 & 4,500 4,500 0
02 DIZtZAAMEE X 4,500 4,500 0
ON=ZSMAMUZ IH A 4,500,000& * 13 4,500
S AMIMES EHALH I A 6,000 6,000 0
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307 glz2tol & 6,000 6,000 0
02 PIZHEHAHEE 6,000 6,000 0
OHUTHAITHS EHAH & I M A
3,000,000& = 23| 6,000
2oH 4L2SIISHA 9,000 10,000 A 1,000
307 21201 A 9,000 10,000 A 1,000
04 DIZHHALALSE E X 9,000 10,000 A 1,000
OF2H U218 AL 9,000,000& + 13 9,000
2016 H@RAME=EN A L M A 49,500 50,000 A 500
307 glz2tol & 49,500 50,000 A 500
04 DI2HHALAISE E X 49,500 50,000 A 500
O 23t & At 49,500,000& 49,500
X235 (SHE)#ALEE 65,000 65,000 0
307 21201 A 65,000 65,000 0
04 QIZFHALAIH E = 65,000 65,000 0
OX A =2s(stE)&#HAFZ
5,000,000 * 1304 A& 65,000
F2 A2EM =2H 8,500 10,000 A 1,500
307 glz2tol & 8,500 10,000 A 1,500
04 QIZFHALAIH E = 8,500 10,000 A 1,500
OF& A=d 4 =2H  8,500,0008 * 13 8,500
=3 A AlEs3 7,000 7,000 0
307 21201 A 7,000 7,000 0
04 QIZFHALAIH B = 7,000 7,000 0
O =3l Z&tH 7,000,000& = 13l 7,000
S ALE JIGHA 2,000 2,000 0
307 21201 A 2,000 2,000 0
04 QIZFHALAIR B = 2,000 2,000 0
O=S4tH AUR JIEHA 2,000,0008 * 123 2,000
Horsl & JI1E A 4,500 4,500 0
307 gl2+tol & 4,500 4,500 0
04 DI2HHALALSE E X 4,500 4,500 0
OMI7sl &LE IS4 4,500,000& = 13l 4,500
Hi12e sEs0tg3 &K 34,000 34,000 0
< 9,000
Al 25,000
307 glz2+ol & 34,000 34,000 0
< 9,000
Al 25,000
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02 It M AHE L 34,000 34,000 0
OM128 sE<*+0g=3 2&X
34,000,000& * 13l 34,000
< 9,000
Al 25,000
SEs523 20,000 20,000 0
307 glz2tol & 20,000 20,000 0
04 BI2HSH At 20,000 20,000 0
OFES 20,000,000& = 13l 20,000
= 2SN M 15,000 15,000 0
307 glz2tol & 15,000 15,000 0
04 212t ALAL 15,000 15,000 0
o#u= & 2 HAE H=A
15,000,000& * 13 15,000
&M A Ol TH 4,000 4,000 0
307 glz2tol & 4,000 4,000 0
04 BI2HSH At 4,000 4,000 0
os&s 4,000,000& = 13l 4,000
H3s E==2H 20,000 20,000 0
< 10,000
Al 10,000
307 glz2tol & 20,000 20,000 0
< 10,000
Al 10,000
04 212t AL 20,000 20,000 0
O HI32 HEuo=d
20,000,000& = 13l 20,000
< 10,000
Al 10,000
2016 = RlIerE D) 30,000 10,000 20,000
< 20,000
Al 10,000
307 glz2+ol & 30,000 10,000 20,000
= 20,000
Al 10,000
04 212t AL 30,000 10,000 20,000
©2016 £ 2lot S AFCH TH
30,000,000& = 13l 30,000
< 20,000
Al 10,000
KHOHZ & & Al 2 4,000 0 4,000
307 I+l & 4,000 0 4,000
04 QI2HSH At 4,000 0 4,000
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©2016 MHOHEAZAl 28 20z R
4,000,000& 4,000
FFlznedd 8,500 8,500 0
307 gl2tol & 8,500 8,500 0
04 DIZHHALALSE E X 8,500 8,500 0
OFFlz=nazdy 8,500,000& =+ 13l 8,500
HFE-ZECA XNUMZAIZE 23020 F (A7) 10,000 0 10,000
307 glz2tol & 10,000 0 10,000
04 QIZFHALAIH E = 10,000 0 10,000
OHM4sl d=-TECIAl HOUHEAIZ 230z
S 10,000, 000& 10,000
A2 ot dESS 31,000 31,000 0
307 gl2tol & 31,000 31,000 0
04 DIZHHALALSE E X 31,000 31,000 0
OAl2I & Mote MESYLS
31,000,000& * 13l 31,000
Ot Ssti=gs Y22 48,000 48,000 0
307 21201 A 48,000 48,000 0
04 DIZHHALALSE E X 48,000 48,000 0
OXOtIte 2tti=es L&==
8,000,000& = 13l 48,000
fHE HARSEaHH 35,000 35,000 0
= 20,000
Al 15,000
307 21201 A 35,000 35,000 0
< 20,000
Al 15,000
04 QIZFHALAIR B = 35,000 35,000 0
ORI 7S=ZaHA 35,000,000& * 13l 35,000
= 20,000
Al 15,000
F=0=2Hetet 1049 QM et 55,000 55,000 0
< 30,000
Al 25,000
307 gl & 55,000 55,000 0
< 30,000
Al 25,000
04 DIZHHALALSE E X 55,000 55,000 0
OFF0=2H e 10=8 2Hect
55,000,000& = 13l 55,000
S 30,000
Al 25,000
IIBEY QAN ZAME 45,000 45,000 0




2N 230z
A BU=TE
& S3o=AM X (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
307 glz2tol & 45,000 45,000 0
04 DI2HHALALSE E X 45,000 45,000 0
OJNE®RY ASUNEZNE
45,000,000& = 13l 45,000
A USRI 12,800 15,000 A 2,200
307 21201 A 12,800 15,000 A 2,200
04 DIZHHALALSE E X 12,800 15,000 A 2,200
OMELISAH IR X 12,800,000& * 13l 12,800
X34l CHetel =22 1,200,000 0 1,200,000
< 600,000
Al 600,000
307 glz2tol & 1,200,000 0 1,200,000
< 600,000
Al 600,000
04 DI2HHALALSE E X 1,200,000 0 1,200,000
OHM34s et =3 1,200,000, 000& 1,200,000
< 600,000
Al 600,000
SASTHNA (2 AN LAY 750,000 0 750,000
Xl 300,000
< 135,000
Al 315,000
307 21201 A 750,000 0 750,000
Xl 300,000
< 135,000
Al 315,000
02 HIAFAAFEX 750,000 0 750,000
OSSN (2T AL AL
750,000, 000& 750,000
X 300,000
< 135,000
Al 315,000
X Xlotel & 40,000 0 40,000
307 21201 A 40,000 0 40,000
04 QIZFHALAIH B = 40,000 0 40,000
OAXotelg gH3 ¥ S24H 40,000,000 40,000
EF=AQlstg 83l 295,000 0 295,000
307 21201 A 295,000 0 295,000
04 QIZFHALAIR B = 295,000 0 295,000
OHEFAQSS S 295,000, 000& 295,000
S=H=H 15,000 0 15,000
307 gl2tol & 15,000 0 15,000




25 230z
HzM: S sIE
e S3d=8EAI X (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
04 SIZ2ISHAAIH E & 15,000 0 15,000
OHM34s s5AHA=2H 15,000,000 15,000
HZ= ANQ 20E8s 0 9,000 0 9,000
307 gizto| A 9,000 0 9,000
02 QI2tAAMAIE E =X 9,000 0 9,000
OFFAIQ 2025 & 10 9,000,000 9,000
HF20383 A 8,000 0 8,000
307 212t0| & 8,000 0 8,000
04 CIZ2HSHALALS B X 8,000 0 8,000
OFZF= 20/ 83 ™ 8,000,000& 8,000
HECHcH 'elsAE! 45,000 0 45,000
== 30,000
Al 15,000
307 2Iz2t0| & 45,000 0 45,000
= 30,000
Al 15,000
04 SIZ2HSHAAISH E & 45,000 0 45,000
OHIZCI2L2He 'el=8E" 45,000,000 45,000
= 30,000
Al 15,000
E0IAIOIE23IE Al WEEEAY 50,000 0 50,000
307 gizto| & 50,000 50,000
02 Q123 &AL 50,000 50,000
O=Z=UF A 20,000,000 20,000
OYLEWNEA 30,000,000 30,000
stz =XsS D 50,000 50,000
307 2Iz2to| A 50,000 50,000
02 QIZFAAAIE E X 50,000 50,000
ostsd HZXstn 50,000,000 50,000
AMotet HAEY 280,000 280,000
307 giz2to| A 280,000 280,000
02 QIZ2IA AAIE E X 280,000 280,000
OXIter HA 280,000,000 280,000
SIEF=AESEIE 50,000 50,000
=} 25,000
Al 25,000
307 QI2t0| & 50,000 50,000
&< 25,000
Al 25,000
04 QI2HSH AFAFES 50,000 50,000




2H: 230
A BU=TE
& S3o=AM X (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OSEE=A 28HI|8 =S S23
50,000,000& 50,000
< 25,000
Al 25,000
Ol MW Lise Hd&2s0=H 40,000 0 40,000
< 20,000
Al 20,000
307 gl2tol & 40,000 0 40,000
< 20,000
Al 20,000
04 DIZHHALALSE E X 40,000 0 40,000
OO0IZAtEDL Uz dE3t0=H
40,000,000& 40,000
< 20,000
Al 20,000
dIFAEUZ0=SH HEEE 32,000 0 32,000
J| 5,000
< 12,000
Al 15,000
307 gl2tol & 32,000 0 32,000
J| 5,000
< 12,000
Al 15,000
04 DIZHHALALSE E X 32,000 0 32,000
Od=Fad USM==H HWEE It
32,000,000& 32,000
J| 5,000
< 12,000
Al 15,000
stz A XA 518,130 497,450 20,680
dF0s 22 XA 84,130 83,000 1,130
307 21201 A 84,130 83,000 1,130
02 ItFAAFE R 6,800 8,000 A 1,200
OF=0=A &2t 6,800,000& = 13l 6,800
03 QIAHNHE2IHIEE 77,330 75,000 2,330
OFFMSE 224l X 77,330,000 77,330
Fxoos 22 N 69,600 74,500 A 4,900
307 21201 A 69,600 74,500 A 4,900
02 HAFAANFEX 30,000 36,000 A 6,000
Os=XII=2 0l Al &2t 5,000,000& = 13l 5,000
O=gZsHNEgd 29 25,000,000& * 13l 25,000
03 QIAHNHE2IHIEE 39,600 38,500 1,100
OF=QHE 2<dl XA 39,600,000 39,600
3 2GXH 201,000 176,550 24,450




2N
X ZH -
L= B

el

M0 MO MO

- _ _ RE]
M- B (B H) - NSAY - B Ol At o %@ﬁ HRE2
307 2Iz2to| & 201,000 176,550 24,450
02 QIZHA AAIE E X 121,000 111,000 10,000
OFF23= 25,000,000 = 13| 25,000
OFF23= 80,000,000 80,000
OXgE3tstw 6,000,000& 6,000
O A2 QI A=AED])
10,000,000 10,000
03 It XY & 80,000 65,550 14,450
o233 80,000,000 80,000
stold 29 160,000 160,000 0]
307 2I2t0| ™ 160,000 160,000 0
05 QIZtREZ 160,000 160,000 0
OFFZ232 80,000,000 80,000
OEY 232 80,000,000 80,000
H==2% Sd A& 3,400 3,400 0
307 QI2t0| ™ 3,400 3,400 0
02 QI2tAAMAIE E =X 3,400 3,400 0
olzs=&2% ¢ 3,400,000 3,400
HEs Sstu=A 1,073,000 963,243 109,757
J| 763,900
o= 61,800
Al 247,300
23023 ANY 1,073,000 963,243 109,757
J| 763,900
o= 61,800
Al 247,300
307 QI2t0| ™ 1,073,000 963,243 109,757
J| 763,900
o=} 61,800
Al 247,300
02 QI2tA ALALS 1,073,000 963,243 109,757
OEg &30l 1,073,000,000& 1,073,000
J| 763,900
& 61,800
Al 247,300
| 3t B Y dS 6,995,869 8,554,007 N 1,558,138
= 2,718,638
= 1,289,639
Al 2,987,592
23 2= 5,806,836 7,091,826 A 1,284,990
= 2,587,738
== 1,221,894
Al 1,997,204




2N 230z
HH: NERs PE U M
el 2SN BEEae (chel & 9l)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
EXNZE 2 M E=ZH ALY 968,000 1,204,000 A 236,000
< 484,000
Al 484,000
401 Al Bl 28I 968,000 1,132,000 A 164,000
< 484,000
Al 484,000
01 A& Bl 954,000 1,132,000 A 178,000
o242t HFE L A oAl 2SS el
250,130, 000& 250,130
< 125,065
Al 125,065
O=SZEIE oidE2+ & FHEHYI
198,560, 000& 198,560
< 99,280
Al 99,280
OEZEs M) s42 & MIt B
30,000,000& 30,000
< 15,000
Al 15,000
OIS Jlga N2+ & =23
99,100,000& 99,100
= 49,550
Al 49,550
OdSNA A&EFH Z2XZ A 119,140,000 119,140
= 59,570
Al 59,570
OE=s2d& 38 WR, 5.62 2% E=
79,280,000& 79,280
< 39,640
Al 39,640
OYdE G2+ ¥ BEHC 20,000,000& 20,000
< 10,000
Al 10,000
O&EH EEXNe 8,000,000& 8,000
< 4,000
Al 4,000
OEHAN 2EHAE BEXC 20,000,000& 20,000
< 10,000
Al 10,000
O4tEelElas BEEXe & Jgz2seE
8,000,000& 8,000
S 4,000
Al 4,000
052 MEH S E&Hel 20,000,000& 20,000
< 10,000
Al 10,000
OBEZMNaXH B2 L BE&H2
30,000, 000& 30,000
< 15,000
Al 15,000




2N 230z
B NESS 2E U M
el 223 2E2e (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OZXNBEZsM 258 & Z20IE=
20,000,000& 20,000
= 10,000
Al 10,000
OZXNHESM =otoldd(&ds, 28el,
Lsel) 51,790,000& 51,790
< 25,895
Al 25,895
02 Zeltl 8,000 0 8,000
o262t & L AAM GHMES, S
8,000,000& 8,000
< 4,000
Al 4,000
03 Al 2 THHI 6,000 0 6,000
O A& 2| 6,000,000 6,000
< 3,000
Al 3,000
=23 Zhl 405,000 891,200 A 486,200
401 AIEHI L 2 CHYI 405,000 351,200 53,800
01 A& HI 405,000 351,200 53,800
O=stM =8 xFael & &C2el
7,000,000 * 2000 A& 140,000
OHZHdE ZHISA 15,000,000& * 14 15,000
OZ2AZS R AEE = 20,000,000& 20,000
oagttd =X& Fl 150,000, 000& 150,000
OE X0 bl 80,000
OS2 M X EX0HS
60,000,000& * 14l 60,000
Osgts+ @29 EXIOMEY 20,000,000& * 14 20,000
S22 SHEA X2 20,400 22,400 A 2,000
= 10,200
Al 10,200
307 21201 A 20,400 22,400 A 2,000
< 10,200
Al 10,200
02 UAFAAFEE 20,400 22,400 A 2,000
OSREZaM SHEA XA 20,400,000& 20,400
< 10,200
Al 10,200
FEEM ds NA 150,600 163,200 A 12,600
< 75,300
Al 75,300
307 glz2tol & 150,600 163,200 A 12,600
< 75,300
Al 75,300
02 It M AHE X 150,600 163,200 A 12,600
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2N
X ZH -
L= B

el

A 1 FO
for ot
FD

5 - 4
SA BB (SH) - NRAY - B Ol At o %@i HRE2
ORE23M 85 X 150,600,000 150,600
=} 75,300
Al 75,300
StEKAY S 323,480 511,930 A 188,450
201 et | 1,680 1,680 0
01 AP 2t 2] d| 1,680 1,680 0
OBESH B59As +g
0,000& * 6Y = 43| 1,680
202 04| 1,800 1,800 0
01 2L Hl 1,800 1,800 0
OHERAN ZB04| 1,800,000 1,800
207 I & 20,000 0 20,000
01 d32E<H| 20,000 0 20,000
OBERE PE2 HEYABINLY
20,000,000 20,000
401 Al HI L £ 0HHI 300,000 8,450 291,550
01 Al& H| 300,000 8,450 291,550
OSBESH B3 S -H, 150 =)
300,000,000 300,000
SIS ZAIQ 2 Hi X 94 536 112,000 N 17,464
= 47,268
& 23,634
Al 23,634
307 QI2t0| ™ 94,536 112,000 N 17,464
= 47,268
= 23,634
Al 23,634
05 QIZtREZ 94,536 112,000 N 17,464
OOCtM AH|I2I & HH X AF 94,536,000 94,536
= 47,268
= 23,634
Al 23,634
2SR S ALY 20,000 20,000 0
= 10,000
Al 10,000
307 2Iz2t0| & 20,000 20,000 0
= 10,000
Al 10,000
04 SIZ2HSHAALSH E & 20,000 20,000 0
O23R 4 E=AY 20,000,000 20,000
= 10,000
Al 10,000
MM 2SI AFS 52,500 42,500 10,000
= 21,000




2N 230z
Y HES 2Z U B
el 223 2E2e (chel & 9l)
A - "B (B) - HRAY - BES Ol &+ o4 SSa HlmE2
< 15,750
Al 15,750
307 2Iztol ™ 52,500 42,500 10,000
= 21,000
< 15,750
Al 15,750
04 DI2FHALAISE E X 52,500 42,500 10,000
OCIZ oISk sUIEHR Z2A23H MU E
52,500,000& 52,500
= 21,000
= 15,750
Al 15,750
IIKNEEM 2T H ALY 3,272,000 776,571 2,495,429
= 2,309,300
= 494,850
Al 467,850
207 Ao H| 330,000 0 330,000
= 231,000
= 49,500
Al 49,500
01 A E A 330,000 0 330,000
OEM MdAEA AEZA 30,000,000& 30,000
= 21,000
< 4,500
Al 4,500
ONIME 22 Y M YBFA
300,000,000 300,000
= 210,000
< 45,000
Al 45,000
401 AIEBIZ 28I 2,822,000 376,571 2,445,429
= 1,994,300
< 427,350
Al 400,350
01 A& HI 2,786,000 376,571 2,409,429
Oo0lgs = staa & 1 FHl
264,200,000& 264,200
= 184,940
< 39,630
Al 39,630
©01&slt=s AP XISII2 n27J|
38,000,000& 38,000
= 26,600
< 5,700
Al 5,700
OFHIIEE A2 &L Bz (352 2
L) 9,000,000 9,000
= 6,300
< 1,350
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M 250D
B NESS 2E U M
el 223 2E2e (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 1,350
oFAIIEE |A2Ae ¥ E=Xz (¢ 2
2HLER) 9,000,000 9,000
= 6,300
< 1,350
Al 1,350
oML EXIOHY 500,000,000& 500,000
= 350,000
< 75,000
Al 75,000
odEMd & . 8Xd S d2a2+, SEEHZ
AE, =5 S FHEIEH 1,965,800, 000& 1,965,800
= 1,394,960
< 298,920
Al 271,920
02 Zeltl 27,000 0 27,000
OaEstd FHIAY 27,000,000& 27,000
= 18,900
< 4,050
Al 4,050
03 A& S THHI 9,000 0 9,000
OAIE =2 9,000,000& 9,000
= 6,300
< 1,350
Al 1,350
403 A X EHHS =0l A 120,000 150,000 230,000
= 84,000
< 18,000
Al 18,000
02 SJ| 2SOl CH8t At 2 X CH & AF & I 120,000 150,000 /30,000
OEM =5H0l7g 2 AR 120,000, 000& 120,000
= 84,000
< 18,000
Al 18,000
BIASH DS T2 29 28,700 35,000 6,300
307 glz2tol & 28,700 35,000 A 6,300
02 It MAHEE 28,700 35,000 26,300
Ou&sSs W T2 29 28,700,000 28,700
S K& A 29,000 29,000 0
< 14,500
Al 14,500
307 glz2+ol & 29,000 29,000 0
< 14,500
Al 14,500
02 QIAHFAAHFEX 29,000 29,000 0
OHFHD HAH RA24 e
17,000,000 17,000
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2A:
X{ XH -
(=R B
=E

HO 2 MO
for o o
FD

SA-3H -2 (3AH) - MRAS

01
o

=Yr
i

2

©
Ho
1o
00
El
0z
>
I
10
>
H
4>
el

el
12,000,000&

H

Al

= M

8,500
8,500

12,000

6,000
6,000

EXNZE2 M SIHEH A

H

Al

39,520

19,760
19,760

288,520

A 249,000

201

e
=z
Mo
0
=

H

Al

39,520

19,760
19,760

39,520

&=

M od
Mo

P
0% 02
Ho
k_@j
=
0z
k_?j
sl
)
Ha

© 0

39,520,000&

SMAIE s 2

=M

39,520

39,520

19,760
19,760

39,520

=JINE 23 =101 7|

H

Al

17,100

11,970
5,130

17,100

401 AIEHIZ 2 I

W

Al

17,100

11,970
5,130

17,100

I A&l
SV EEBIERESETE]
17,100,008 * 14

= M

17,100

17,100

11,970
5,130

17,100

H
S|
P
0
He
on
J
Ho
ton
:>é
0L
Of
0z
0Q

= W

110,000

55,000
27,500
27,500

110,000

401 Al HI L 2 0HHI

= W

110,000

55,000
27,500
27,500

110,000

=

o mx

©

>
>
0L
Ot
pnl
o
=)

EoH0l 2UHE
54,000,000&

NEERER:

Ot
>
o
Ho

&0l 2LHEY
28,000,000&

oolgsits &

02
>
n
Hel

28,000,000&

=M W

= H W

110,000

54,000

27,000
13,500
13,500

28,000

14,000
7,000
7,000

28,000

110,000

_24_




2N 230z
B NESS 2E U M
el 223 2E2e (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
= 14,000
< 7,000
Al 7,000
St EEAY 110,000 0 110,000
= 55,000
< 27,500
Al 27,500
307 gl2tol & 110,000 0 110,000
= 55,000
< 27,500
Al 27,500
04 DI2HHALALSE E X 110,000 0 110,000
OBFEW(MER2RU=3S 222 IIR0)
100,000, 000& 100,000
= 50,000
< 25,000
Al 25,000
ORoew (WA 23aM LISD])
10,000, 000& 10,000
= 5,000
= 2,500
Al 2,500
=2o/gn XA 40,000 0 40,000
307 gl2tol & 40,000 0 40,000
02 IZHEHAHE L 40,000 0 40,000
O=22oawi HALZHH  40,000,000& * 14 40,000
IINKNEEZ M HHLETHAIAE 2= 50,000 0 50,000
= 35,000
< 7,500
Al 7,500
401 Al I 28I 50,000 0 50,000
= 35,000
< 7,500
Al 7,500
01 A& HI 50,000 0 50,000
OSAAL THESE AZHTHAIE HA
50,000,000& * 14l 50,000
= 35,000
= 7,500
Al 7,500
SNHNEEM SH42UHE 2= 48,000 0 48,000
= 33,600
< 7,200
Al 7,200
401 Al& I 28I 48,000 0 48,000
= 33,600
= 7,200
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BE .G (3) - MY - BES il RS2

OWZEAL & A 60,000,000& 60,000
= 30,000
< 15,000
Al 15,000

HSAE LTHAIAE =AY 33,600 168,000 A 134,400
= 16,800
< 8,400
Al 8,400

201 Let2dE] 33,600 0 33,600
= 16,800
< 8,400
Al 8,400

02 =224l 33,600 0 33,600
ONSAE YMAIAEH RXE 33,600
O & At 6,400,000& 6,400
= 3,200
< 1,600
Al 1,600
OEEM 3,200,000 3,200
= 1,600
< 800
Al 800
osdY 3,200,000& 3,200
= 1,600
< 800
Al 800
OE & At 7,200,000 7,200
= 3,600
S 1,800
Al 1,800
OZ3tA 7,200,000& 7,200
= 3,600
< 1,800
Al 1,800
OE & At 6,400,000 6,400
= 3,200
< 1,600
Al 1,600

2ot drs2 2dst ALY 35,250 38,000 22,750
= 14,100
< 6,345
Al 14,805

307 gl2tol & 35,250 38,000 22,750
= 14,100
< 6,345
Al 14,805

02 IZtE S AHE L 35,250 38,000 A2,750
O N2 S43AY 35,250,000 35,250
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25 230z
B NESS 2E U M
ool MSAR U 2L e CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
= 14,100
< 6,345
Al 14,805
HES23 AL XA 582,183 575,381 6,802
< 3,000
Al 579,183
23 22l 394,183 378,381 15,802
101 e1214| 128,171 143,609 N 15,438
04 JI2ZtHIZ2Z2NEES 128,171 143,609 N 15,438
O2KXX &EF=HMAH
48,2803 « 129 x 200 115,872
O2IKEX Ex=HH AR J2AELZ 12,299
O=0HZ 115,872,000& * 4.5% 5,215
OAHAdEE 115,872,000 * 2.995% 3,471
O&EINREYEE 3,471,000& * 6.55% 228
OMTHEE 115,872,000 = 1.42% 1,646
onEgEs 115,872,000 * 1.5% 1,739
201 et2 Y| 217,112 209,872 7,240
01 AP 2t 2] H| 94,495 94,415 80
OMEME F2Hl 1,000,000 * 3MA = 23] 6,000
O2}KER 2H2E2E 12,825
O2SRERX MEES L 2282 7
1,500,000& * 404 A 6,000
O2aMX &R (75w)
20,000& = 60 * 4002 4,800
O2aMX &R (50w)
66,0008 * 4000 = 400 A& 960
O&Y3 |3 X EI=D]
15,000& = 3304 = 23| 990
OJIE 2232 &EX EH=2DI 15,0008 * 504 75
OFRAZ 1= 120,000& * 8YH =« 23| 1,920
O23M 22| CCTVEH SN EH| (AEAS
s) 182,000,000& = 8/100 14,560
OMS AN Kot SAXED)
100,000 * 12& 1,200
OS2I EE= M &
2,500,000& * 38 * 40X 30,000
OgRUdErr= 26,190
OZSX2SM dI|t™ =2
60,000& =* 230 A 1,380
Ox=ZE A 300,000 * 43| * 40 4,800
O&dstxHA
15,000 = 30m = 13| » 544 2,250
Oos43a3d A 1,080,000& * 51 A 5,400
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AN 230 =n
b

Ny MESs PE Y s
Celr MES3 Al X (el @2)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OMZMESEA 2HelAd EZ 22l
H oz 220,000& » 123] 2,640
ORAHEA >+2 (23 MEX)
130,000& = 29 = 12 3,120
ORUBHIBY +42 (228, AHEIIER)
230,000& * 20 A » 128 5,520
OROAHIBA 242 (MSEEA)
90,000& = 12& 1,080
O MR OHEAAE 22| 1,800
OEAIAE 22| =3 150,000& » 123 1,800
02 3323l 122,617 115,457 7,160
O=23REX I 52,980
Oagatd 500,000& = 12& 6,000
O=23&HM & X 1,800,000& * 12& 21,600
O&gamdlX 720,000& = 12& 8,640
OdTHS MY 720,000& = 12& 8,640
Ogs+==&X 90,000& = 12& 1,080
(OF=2=gd, 35,000& = 12& 420
og=d 300,000& * 123 3,600
Ool&gs = 100,000& » 12& 1,200
O3F=S4 Of2tx=™H 50,000& = 12& 600
Osgs20t 100,000& » 12& 1,200
OfALdeds =4F  200,0008 * 128 * 4L 9,600
Osgs 20 ALY SHE
50,000& = 12& 600
oagdd NsstMEXNE Selz
30,000& = 208 = 12& 720
OYHT A5td ol RS
30,000& = 12& 360
O2gs &0t 4230 A4ER3
30,000& = 12& 360
O=23MAIE H=HI 27,297
O2AREX (AL 2 40H2)
1,685& = 104 » 100 » 504 8,425
O3=&X 0l F 2l
1,685& = 1004 = 100 16,850
O22Z3MEX 2EH0l =Xl
1,685& * 1,200£ 2,022
O=Z3 A A& EBIR XL
5,000,000& * 504 25,000
OXNE=2M YMHAIAE S&=
475,000& = 12& 5,700
202 odl 1,200 1,200 0
01 = LH YI 1,200 1,200 0
OZSMEE =0l
20,0003 = 2% * 3g = 103 1,200
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2N 230z
B NESS 2E U M
el MESE3 AL XA (=& J)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
206 M= Hl 4,500 4,500 0
01 =8l 4,500 4,500 0
OFst2HA 228 s47Y
25,0003 * 50%E * 23| 2,500
OFst: XA 228 Hz7Y
10,000& = 28 = 50&Z * 23| 2,000
301 getE a3 13,200 13,200 0
1MIIEBESS 13,200 13,200 0
OZstMAZ0 243
5,000& * 8 » 20 * 12& 9,600
O2FMES JSHAHE 2AZ (2 MAA)
20,0003 = 29 = 43| ~ 123 1,920
OFAHIIEE Lol 2H =S8l
70,0003 * 243| 1,680
308 XIS SO 6,000 6,000 0
07 XXM RE= 6,000 6,000 0
OFMESIZ = 60,000,000& * 10% 6,000
401 Al HI & 28I 24,000 0 24,000
01 A& HI 24,000 0 24,000
OZ2ZsMHX 23 &X
24,000,000& * 14l 24,000
XA S==Hl 1,000 1,000 0
307 glz2tol & 1,000 1,000 0
04 DIZFHALAFRIE & 1,000 1,000 0
ONH& S==H At 1,000,000& * 13l 1,000
=g AMUH 10,000 10,000 0
307 glz2+ol & 10,000 10,000 0
04 QIZFHALAIH E = 10,000 10,000 0
OF=e WM 5,000,000& = 23] 10,000
EFszd3d 3,000 3,000 0
307 21201 A 3,000 3,000 0
04 QIZFHALAIH B = 3,000 3,000 0
OFFsAEH 3,000,000& = 13l 3,000
g0 JI2H 8,000 8,000 0
307 21201 A 8,000 8,000 0
04 DIZHHALALSE E X 8,000 8,000 0
QJl=2H At 8,000,000& = 13l 8,000
d72 RT3 Todd 2AH 20,000 20,000 0
307 120l & 20,000 20,000 0
04 DI2HHALALSE E X 20,000 20,000 0
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AN 230 =n
b

B NESS 2E U M
Celr ME23 #AL X CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
Oy A 20,000,000& 20,000
MOl 8tE2 u & 15,000 15,000 0
307 QI2t0| & 15,000 15,000 0
04 QIZISHALAIE B2 X 15,000 15,000 0
OAOst2na 15,000,000& 15,000
HUlstsdE 20,000 20,000 0
307 QI2t0| ™ 20,000 20,000 0
04 QI2tSHALAIE E &= 20,000 20,000 0
odHlesMER2Y 2,000,000& * 103/ 20,000
ES=gmEs 10,000 10,000 0
307 QI2t0| M 10,000 10,000 0
04 DIZFSHAIAIRI 2 = 10,000 10,000 0
Osaund 29 5,000,000& =* 23] 10,000
Aud 10,000 10,000 0
307 212t01 & 10,000 10,000 0
04 QIZHSHAFAIE 2 X 10,000 10,000 0
oddd 10,000,000& * 13 10,000
Mle BIUA MHE 3,000 3,000 0
307 QI2t0| ™ 3,000 3,000 0
04 QI2SHALAIE B &= 3,000 3,000 0
oOdUesE WA ME 1,000,000& * 33 3,000
OE d=ad3AUE 7,000 5,000 2,000
307 QI2t0| ™ 7,000 5,000 2,000
04 QI2tSHALAIE E &= 7,000 5,000 2,000
OXH&E d=2ZAUSI 7,000,000& * 13 7,000
Colpa T2 2H 16,000 18,000 A 2,000
307 212t01 & 16,000 18,000 A 2,000
02 DIZtZAAMEE X 16,000 18,000 A 2,000
OEuAZZ ) (HAUSSSINRA)
16,000,000& 16,000
dEFdse &9 7,000 8,000 A 1,000
307 QI2t0| ™ 7,000 8,000 A 1,000
02 DIZtBAAEE X 7,000 8,000 A 1,000
OEEFd=s2 3¢ 7,000,000& * 13 7,000
HA=SI|I=0 =9 7,000 8,000 A 1,000
307 212t01 & 7,000 8,000 A 1,000
02 DIZtZAAMEE X 7,000 8,000 A 1,000




AN 230 =n
b

B NESS 2E U M
& 823 AL XH (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OFHRASII=0 ¢ 7,000,000& = 13l 7,000
=ogw JzA 4,000 3,000 1,000
307 glz2+ol & 4,000 3,000 1,000
04 QIZFHALAIH B = 4,000 3,000 1,000
o=9gw JEA 4,000,000& = 13l 4,000
ey AMUH 5,000 4,000 1,000
307 21201 A 5,000 4,000 1,000
04 QIZFHALAIR B = 5,000 4,000 1,000
O=z2etn AMHH 2,500,000& = 23| 5,000
2ogu Eo8Y w2 H 4,000 4,000 0
307 2201 A 4,000 4,000 0
04 DIZHHALALSE E X 4,000 4,000 0
OF2etw Eode 2AH  4,000,000& * 14 4,000
X2 SEI A 23,000 23,000 0
307 glz2tol & 23,000 23,000 0
04 QIZFHALAIH E = 23,000 23,000 0
O=XHZST3 ZSHAAM 23,000,000& 23,000
TE43E uEid 15,000 15,000 0
< 3,000
Al 12,000
307 21201 A 15,000 15,000 0
< 3,000
Al 12,000
02 QAFAAFEX 15,000 15,000 0
o=g4da= Uusid 15,000
O&F=gn 9,000,000& 9,000
< 1,800
Al 7,200
O29&gn 6,000,000 6,000
< 1,200
Al 4,800
M S 8,326,300 9,335,000 A 1,008,700
= 1,020,000
J| 400,000
< 510,000
Al 6,396,300
FoMIsH 20,000 20,000 0
S 23 AIS XA 20,000 20,000 0
307 21201 A 20,000 20,000 0
02 QB AAFEX 20,000 20,000 0
OFa=2stASE XA 20,000,000& 20,000
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2H: 230
M MRS
Sl 2318 Al =S (cho &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Z3tIIeE Ald &S 2,050,000 515,000 1,535,000
J| 400,000
Al 1,650,000
A2 9 2435 N 15,000 15,000 0
402 RI2HX20| ™ 15,000 15,000 0
01 22t t= AP E XL 15,000 15,000 0
OARIBAZEHI (AEMNE )X
15,000, 000& 15,000
St& ¥E Set0t HOME 24 680,000 0 680,000
J| 400,000
Al 280,000
401 AIEHI L 201 680,000 0 680,000
J| 400,000
Al 280,000
01 A& Bl 659,476 0 659,476
=Sl OtEE 2HE A A&
7,200,000,000& * 4.438% 319,536
J| 100,000
Al 219,536
Od=dEUDIOEE HEHI 339,940,000 339,940
J| 300,000
Al 39,940
02 2feldl 3,604 0 3,604
Od=EHiiOtEE HE 22l
3,604,000 3,604
03 A& S THHI 16,920 0 16,920
Od=+S 0t OLEE 2HE ANE=RUH
7,200,000,000& * 0.235% 16,920
MEZSIHEH 2H2F 1,355,000 0 1,355,000
401 Al HIZ 201 I 1,255,000 0 1,255,000
01 A& HI 1,226,244 0 1,226,244
OMEE3dH =&E3AM 1,226,244
OJl2 & AAEA 97,446,000 97,446
OHMe=s2 Jax Baty| 1,000, 000& 1,000
O3 MHI(ASF A, 84,428 HIIS)
1,127,798,000& 1,127,798
02 2feldl 21,956 0 21,956
oZeltl 21,956,000 21,956
03 Al 2 THHI 6,800 0 6,800
OA &SI 6,800,000& 6,800
405 RHoHE S HI 100,000 0 100,000
01 AL EFFHSHI 100,000 0 100,000
Ouw=EI| XM 100,000, 000& 100,000
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2N 230z
M 2B MTE
oot BFEHUSSMATN TN L 29 (B9 ®R)
L=
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
ETHHEAMAET =4 & 2 2,453,300 2,900,000 A 446,700
EJIH2MHR 2 2,453,300 2,900,000 A 446,700
207 A RO 17,000 0 17,000
01 2284 17,000 0 17,000
OHEZANSSHMATSTE FABI} B
9,000,000 9,000
OBZHU2HMNACN SAILNELY BY
8,000,000 8,000
306 93 2,333,000 2,000,000 333,000
01 &= 2,333,000 2,000,000 333,000
OHFANSSIMADENE U BECAEHSS
MBS 22l 2,333,000
OFMIIENE HEs =4 N
100,000, 000& 100,000
OftmeAZH L T
2,233,000,000& 2,233,000
401 AIEHI L 20HYI 103,300 900,000 A796,700
01 A& HI 103,300 900,000 AT796,700
OBFHUSHAACT HANSK 24
93,300,000& 93,300
OHZHUSHMACK XA AR0IH DA
10,000, 000& 10,000
SH=2st=s4 850,000 5,900,000 25,050,000
EFZ N30 #A =2 300,000 5,500,000 25,200,000
307 glz2tol & 300,000 5,500,000 25,200,000
02 It HAHEE 300,000 5,500,000 25,200,000
©2017& FF=I Mol =Hl
300,000, 000& 300,000
st=302 249 350,000 400,000 A50,000
307 glz2+ol & 350,000 400,000 A50,000
05 RIZHRI & 3 350,000 400,000 A 50,000
ost=30& AR 350,000, 000& 350,000
S0l &S X2 200,000 0 200,000
307 glz2+ol & 200,000 0 200,000
02 QAFHAANGEEE 200,000 0 200,000
©2016 E==2HS30MHOH JHx 200,000,000 200,000
ZI X! KOREA S M AL =& 2,953,000 0 2,953,000
= 1,020,000
= 510,000
Al 1,423,000
X! KOREA S M AL =& 2,953,000 0 2,953,000
= 1,020,000
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o A X! KOREA S M AL =&

- _ _ RE]
H-H2 - B9 (3H) - HEAY - BA=S Ol At o ﬁ}lgﬁ HRE2
= 510,000
Al 1,423,000
202 04| 3,000 0 3,000
01 2L Hl 3,000 0 3,000
©2016 & X| IKOREA = M A =&= 28 =2 U
o 1l 3,000,000& 3,000
307 2iz2to| A 2,950,000 0 2,950,000
= 1,020,000
& 510,000
Al 1,420,000
02 QIZ2IA AAIE E X 2,950,000 0 2,950,000
©2016 & Xl '|KOREA = XMIS A =&
2,950,000,000& 2,950,000
= 1,020,000
& 510,000
Al 1,420,000
HHSHAY (23sH0 =) 49,244 72,880 N 23,636
JlE&dl 49,244 72,880 N 23,636
Jl2&H| 49,244 72,880 N 23,636
201 et d| 24,464 50,258 AN25,794
01 AP 2t 2| bl 24,464 50,258 N25,794
oJl2geLdist S AL (JI=AHl)
8,000,000& 8,000
OS==H|(JI=&Hl) 8,064 ,000& 8,064
O LAy 8,400
O 2| 60,0008 = 140 8,400
202 o4l 17,280 17,280 0
01 2L HI 17,280 17,280 0
OJl=Z& | 17,280,000 17,280
203 €2 F=&d| 7,500 4,200 3,300
01 J| 2 2SHHR=XH| 3,300 0 3,300
OJI=M(43) 3,300,000& 3,300
04 EASHELRFAH| 4,200 4,200 0
©J|&=M (30021 0]56}H) 350,000 ~ 12€ 4,200
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